< 00, > (M)

RatioI

<op/p. > (70)

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

(@)
TIT [T I T [ TI T[T [ TT T[T T T[T rTI[TTT

&

....................................

[y
TTTT] T T

=
o
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

-0.15

Ratio

|
- P
NI )

4
T
T
T
T
y
+
+

iy

=
iN

2 3
1 TPlpoT (PCA t%obeamliné[f)

—=— SoftQCD_default

—— SoftQCD_ckfPixelLessStep

100r F3 T
80F [
60:— “ """"""""""""""""""""
40F B
20F o B R R R EE LSRR L
OF ALt
-20F | A
—40F N
-60F g E RCLR SRERLTIRS
-80F e RCei it SR
100F kel Lo il il
0.95'_1 : '2 5
10 1 TPlp?T (PCA t%obeamliné'f)
5 ;
A T
3F R R ANSRERE
2F ] P RStk STERIEERES
100 1 112 RSO SR
OF - FRHEH v
r Al L]

0.6 |

o
)
T T

[y
o
I8

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

EE
= 8oF i
A E
S 60F
< o
v 40k
20
OF ¥
_20:_ -_<>
_40:_ -"-
b1t
-80F i : :
JYeYe) S A L T EEOOON ERYTY Y
£ : :
x [ d
1_— 4444 s

1

[any
o
I8

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


